£ 3% pandas TT—Y ML LS

groupby() A ¥V v F &l L TDataFrame Z #:# L ¥ 3. i€ SNFCTHEH I N TV =
2 b DataFrameGroupBy 2538 SN $3, U X ;3.8.1 Tldtype I TEH/EN2F TV 27 2 1E
ELTWET (RRIZUZXF3.8.2),

JZ3.8.1: DataFrame D&
import os

import pandas as pd
import numpy as np

base_url = "https://raw.githubusercontent.com/practical-jupyter/sample-data/master/anime/'
anime_master_csv = os.path.join(base_url, 'anime_master.csv')
df = pd.read_csv(anime_master_csv)

grouped = df.groupby('type')
type(grouped)
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pandas.core.groupby.DataFrameGroupBy
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grouped.mean().round(1)
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grouped.describe().round(1).head(16)
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type anime_id episodes members rating
Movie count 2220.0 2220.0 2220.0 2220.0
mean 14322.5 1.1 10654.0 6.3
std 10925.7 2.2 31603.6 1.2
min 5.0 1.0 13.0 2.5
25% 4396.8 1.0 119.0 5.4
50% 10677.5 1.0 489.5 6.5
75% 24071.5 1.0 4239.0 7.3
max 34201.0 100.0 466254.0 10.0
Music count 485.0 485.0 485.0 485.0
mean 22495.1 1.1 1273.0 5.6
std 10175.0 1.3 4489.0 1.0
min 731.0 1.0 24.0 3.3
25% 12101.0 1.0 97.0 5.0
50% 24903.0 1.0 226.0 5.6
75% 31925.0 1.0 797.0 6.2
max 34412.0 24.0 71136.0 8.4
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df.groupby(L'type', 'episodes'l).mean().round(1).head(20)
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type anime_id episodes rating members
Movie 14322.5 1.1 6.3 10654.0
Music 22495.1 1.1 5.6 1273.0
ONA 22738.0 6.8 5.6 4401.8
OVA 12207.7 2.5 6.5 6849.5
Special 16802.3 2.5 6.5 7424.6
TV 10929.6 37.5 6.9 41832.3

7 3.17 GroupBy http://pandas.pydata.org/pandas-docs/stable/api.html#groupby

type episodes anime_id rating members
Movie 1 14320.0 6.3 10588.6

2 13802.0 6.9 6638.9

3 11339.3 6.7 53598.1

4 15723.5 7.3 3566.5

5 12558.3 6.1 3641.0

6 8433.5 6.0 178.5

7 13602.5 6.9 11989.5

9 8928.0 6.2 267.0

10 31020.0 6.9 57.0
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fig = plt.figure(figsize=(10, 3))
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Q@ DIZy2 £ y3DIMEERTHET 2 ax.bar(x, y3b, label='y3")
- ax.bar(x, y2b, label="y2")
QY1 EERTHET 2 ax.bar(x, y1b, label='y1")
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# 7—4ty bDIER figure = plt.figure(figsize=(10, 3))
X = np.arange(5) ax = figure.add_subplot(111)
np.random.seed(0)
y = np.random.rand(15).reshape((3, 5)) ax.bar(x, y3, bottom=y2b, label='y3')
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p = Histogram(df, values='rating', plot_width=300, plot_height=200, bins=10)
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p = Histogram(df, values='rating', color="type',
plot_width=600, plot_height=400) o t—pron—-—
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import numpy as np
from bokeh.plotting import figure
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